| Efficiency vs Dxy |

0.1
» 0.09
>

80.08
I

5 0.07
0.06
0.05
0.04
0.03
0.02
0.01

dxy

.....................

eff

.....................

............

............

1.

Ratio
!IIII TTT1T

0.95

l‘
\
1

—2520151050 510152025

| Efficiency vs Dz |

TP dxy (cm)

M_TIT ™
M_TT—M

—a— D

—— D
——D

K
__ MK

KEIT ORIG
KEIT_MODIF
KEITCowPt
FITLowPt

0.5
20.45
0.4
= 0.35
0.3
0.25
0.2
0.15
0.1
0.05

s dz

effi C|ency

—— D
—— D

....................................................

FITandPLess MODIF

0
15

Ratio

Fox-1 -1t

*|

%M#--

21 - 9

- |

2030
TP dz (cm)




	Contents
	Page 1


